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e Please check that this question paper contains 11 printed pages.

e Code number given on the right hand side of the question paper should be
‘ written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 30 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on
the answer-book during this period. '
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General Instructions ;

(i) All questions are compulsory.

(i)  The question paper consists of 30 questions divided into four sections —
A, B, Cand D. ‘

(tit)  Section A contains 6 questions of 1 mark each. Section B contains
6 questions of 2 marks each, Section C contains 10 questions of 3 marks
each and Section D contains 8 questions of 4 marks each,

(tv)  There is no overall choice. However, an internal choice has been, provided
in two questions of 1 mark each, two questions of 2 marks each,
four questions of 8 marks each and three questions of 4 marks each. You
have to attempt only one of the alternatives in all such questions.

W)  Useof calculators is not permitted, _
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SECTION A —

5 G&IT 1 86 T Te9% T3 | 35 FTE |
Question numbers 1 to 6 carry 1 mark each.

7L k% 9% 0 T i R R R aiesr kx(x-2)+6=0% 3 g

S
Find the value of k for which the quadratic equation kx (x -~ 2) + 6 = 0 has
two equal roots. '

A2 w18, 15%,13, ...,47%@3%24@1%6@%@ l

Find the number of terms in the AP.: 18, 15%, 13, ..., — 47,

#8.  uH wEa Hifw
' tan 65° .
cot 25°

AT




(sin 67° + cos 75°) Wl 00ﬁ45°%aﬁa%?ﬁm%ﬁﬁwﬁ?ﬂaa§mﬁ%@ﬁ

I hINTT |
Evaluate :
tan 65°
cot 25°
OR

Express (sin 67° + cos 75°) in terms of trigonometric ratios of the angle
between 0° and 45°. :

4 4. W A ABC ~ A DEF g @1 37k &9hal oS 64 a1 Gt g 121 a7 @t
§ | 9f EF = 154 370 3, @ BC 3@ i |
Let A ABC ~ A DEF and their areas be respectively, 64 cm? and 121 cm?
If EF = 15-4 cm, find BC.
5. fagl (a,b) T (- g, —b)%aﬁaaﬁe@mﬁm |
Find the distance between the points (a, b) and (— a, — b).

6. /29U J7 % <= T s aRay e s fiR |
YT

T 22 x 5% x 32 x 17 1 WA €9 | f0T@H W, T* mﬁ%ﬁsﬁ T,
ferfag |
Find a rational number between J2 and V7.

. OR
Write the number of zeroes in the end of a number whose prime
factorization is 22 x 5% x 3% x 17.
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SECTION B
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Question numbers 7 to 12 carry 2 marks each.
27, 10 3R 205 % i 4% fohaw o o § 2
HUAT

a'sauiq{éi?,ﬁmdaﬁﬁmﬁgm?ﬂwqa 16 ? o fygest 7af U2 39 59 U¢
¥ 12 A 7 |
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How many multiples of 4 lie between 10 and 205 ?
OR

7 Determine the A.P. whose third term is 16 and 7% term exceeds the
5 term by 12.

~8. fig RYwTEvs AB, 5 A( 4, 0) T B(0, 6) &, I 58 THR FIRE e 2
6 AR=ZAB R | R % fidwres am i |
The pomt R divides the-line segment AB, where A(- 4, 0) and B(0, 6)
such that AR = % AB. Find the coordinates of R.

L9, Ifaws e Temien és SEART & 255 TAT 867 1 H.4. (HCF) 3rd il |
Use Euclid’s division algorithm to find the HCF of 255 and 867.

~10. @ faftm faemt =t & @9 Sown w0 | 9 faw e B wiear I
HIRTT |

Three different coins are tossed simultaneously. Find the probability of
getting exactly one head. '

L1 52Qﬁaﬁmﬁﬂ—g&ﬁémwwﬁmw | T W8 W % TN
=t TTRrskaT Ta T S T FHH BT I B IR T & rewg w |

A card is drawn at random from a pack of 52 playing cards. Find the
probability of drawing a card which is neither a spade nor a king.

J12. e el I w1 E A

§—+§—:—1; l—-2-:2,'X,y;«é0
X y. X y
AT
kx + 2y =3
k%%m‘:ﬂawmg BEES m\eﬁwgpﬁ -
1 T AT 7 B | 3x+6y =10
Find the solution of the pair of equations :
§+§——-~—1; ~1——-2—=2, x,y#0
X y X Yy
OR
' kx +2y =3
Find the value(s) of k for which the palr of equations
3x + 6y =10

has a unique solution.
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Question numbers 13 to 22 carry 3 marks each.

218, fag SR 5 (3 + 245) T iEw T ¥, S R T R B 5 T
TR T B

Prove that (3 + 2+/5) is an irrational number, given that J5 is an
irrational number.

214, T WS 480 R W gl wHEAW W@ @ q¥ w g | A sEeh =
8 Toprfl/erer 9 iefl, a1 58k g0 SE gl & @ H A 3 W Il e |
Yerrel 6t gt =Te s HIRi |
A train travels a distance of 480 km at a uniform speed. If the speed had .

been 8 km/hr less, then it would have taken 3 hours more to cover the
same distance. Find the usual speed of the train.

15. 9l o a1 B, fgamd o898 f(x) = x% — 4x + 3% IS &, A (o*p2 + o2pH) H
T 14 T |
If o and B are the zeroes of the quadratic polynomial f(x) =x% - 4x + 3,
find the value of (0c462 + 02BY).

16. %E'éﬁﬁqﬁﬁ
' (sin®+1+cosB)(sin®—1+cosO).secH cosecH =2
| arerert
forg Hifm & -
secO—1 secO+1
\/sec9+1-+\/sec9——1 = Zcosec
Prove that :
(sin©® + 1 + cos 6) (sin © — 1 + cos 6) . sec 6 cosec 6 = 2
OR

& Prove that :
secf-—-1 secO+1
+ = 2 cosec 0
secO+1 sec8—-1 ,
iwﬂgﬁﬁ.ﬁ: 5 P.T.O.




17. =% U W it fred fg P4, y), figett A6, 10) 7o B3, - 8) ®i
T a1et Y@TEve i RS S R | 9Fa: vy ' srd iR |
- 3rerET :
p %1 98 WH T iR s o g - 5, 1), (1, p) 7o (4, - 2) T@ § |
Ih what ratio does the point P(- 4, y) divide the line segment joining the
points AK—— 6,10) and B(3, - 8) ? Hence find the value of y.
OR

# Find the value of p for which the points (-5, 1), (1, p) and (4, — 2) are

collinear.

»18.  ABC U% @ohivl Fiysi @ S £ B =90°® | 9f AB = 8 &ft qen BC = 6 It
3, @ 39 B9S & =i ©i" MU g9 1 s e HIR |
ABC is a right triangle in which £ B = 90°. If AB = 8 ¢cm and BC = 6 c¢m,

find the diameter of the circle inscribed in the triangle.

19. Tfd 1 #, BL @1 CM, A ABC, Fed £ A Tmeior 3, Y mifesmsrd € | firg
#itve % 4 (BL? + CM?) = 5 BC2.
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- In Figure 1, BL and CM are medians of a A ABC right-angled at A. Prove

that 4 (BL2 + CM?) = 5 BC2, |
C

Figure 1

OR

Prove that the sum of the squares of the sides of a rhombus is equal to
the sum of the squares of its diagonals.

20, TFR 2 #, A THA T A et 21 A w42 T F M d= 02 | AR
£ AOB = 60° 8, T SRITHd &5 1 &6 F HIAT |

In Figure 2, two concentric circles with centre O, have radii 21 c¢m and
42 cm. If £ AOB = 60°, find the area of the shaded region.

Figure 2
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U fopam oo wa | &+ 10 . e arett qen 2 H. el v SeTer Il @
AT =aT 20 A AT U YISW GRI Ueh &L o Siear 3 | Ife qsd # g
3 feprfiyarer < =mer @ 9% w1 R, O Fohae w ag TR ol s s 2
A cone of height 24 cm ayid radius of base 6 cm is made up of modelling
clay. A child reshapes it in the form of a sphere. Find the radius of the
sphere and hence find the surface area of this sphere.
OR
A farmer connects a pipe of internal diameter 20 cm from a canal into a
cylindrical tank in his field which is 10 m in diameter and 2 m deep. If
water flows through the pipe at the rate of 3 km/hr, in how much time
will the tank be filled ?
- 22, TR 5 1 95 (mode) TRER{TT SHINT : |
it . 10-15 | 15-20 | 20-25 | 25-30 | 30-35
AT : 4 7 20 8 1
“~  Calculate the mode of the following ¢ dlstmbutxon J
Class - 10-15 | 15— % 20 25 ' 95-30 | 30-35
Frequency : 4 7 20 /} 8 1
wWIg T
SECTIOND .~
9T G&IT 23 T 30 T T4F Fo7 & 4 3% & |
Question numbers 23 to 30 carry 4 marks each.
+23. x 7 foQ &9 Il |
1 i+1+—}—; x#0,x# _.Za_b,a,bi()
2a+b+2x 2a b 2x
HATT
A‘ awﬁ% BBl 1 AT 640 < . @ Iaﬁ?;{%‘:rﬁmtﬁwweuﬁ g,
@ ol S TS T HINT |
1.30/4/1 8




Solve for x :

= ———+—1—+——1—-; X#O,x%—:—%{:—h,a,bio

b 2 2

OR
The suin of the areas of two squares is 640 m2. If the difference of their
perimeters is 64 m, find the sides of the square. -

ezé. IfE e TR %%Wpﬁww,mgw qq—cﬁ%a‘rrrw%w
3 (Sfe p#q), A Y 6 FH o (p+q)qﬁaﬂaﬁvm’sﬁ% |

If the sum of the first p terms of an A.P. is the same as the sum of its first
q terms (where p # q), then show that the sum of first (p + q) terms is
Zero. v

95. TF 3, AABCH AD L BC? | firg hifs 1%
AC? = AB? + BC? - 2BC x BD
A

B D
3?7557(:7" 3
In A ABC (Figure 3), AD L BC. Prove that
AC2 = AB? + BC2-2BC xBD

A

Figure 3
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+ 29,

28.

> 29,

150@.%@%@%#,@%%%@35%*@@%3%%@
Wlmmm2wﬁ6mﬁ45°éw%Jma?m“r#r;/&mzﬁ

Construct g triangle with sides 5 ¢m, 6 cm and 7 ¢m and then another
triangle whoge sides are g of the ‘Corresponding sides of the first

triangle,

. Tag Hift fs .

sin8 g _ cosS 9 = (1 -2 cog? 0) (1 -2 sin2 0 cos? 0)
Prove that - '
sin8 g cos® g = (1-2cos? 0) (1 - 2 sin2 0 cos? 0)
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A container opened at the top and made up of a metal sheet, is in the
form of a frustum of a cone of height 16 cm with radii of its lower and
upper ends as 8 cm and 20 cm respegtively. Find the cost of milk which

can completely fill the container, at the rate of T 50 per litre. Also find
the cost of metal sheet used to make the container, if it costs ¥ 10 per

100 cm2. (Take v = 3:14)

. 30. e T S 1 TS TRt I :

E e B O R N
Ao

iR Tl R T < 100wﬁﬁ§wmqﬁ%ﬁmﬁﬁiwm

EEUGHE

40-45\45—50\50—55 55— 60|60 — 65| 65— 70

wm@%wwm’%mﬁmaﬁzmwm@mn

. Calculate the mean of the following frequency distribution :

OR

The following table gives production yield in kg per hectare of wheat of
100 farms of a village : :

Production yield | 40 _ 45 | 45— 50 |50 - 55 |55 60| 60— 65|65 =70
(kg/hectare) : ' :

Nemboraftummr| 4| © | 1 | ® [ ®

Change the distribution to a ‘more than type distribution, and draw its
ogive.

4
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